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ENGLISH VERSION

Instruction : Show the necessary calculations.
1 Calculate the following from the financial statements 20
and other information of ABC Ltd. given below :
Rate of Return on Total Capital Employed, Return on Net
Capital Employed (On EBIT) and Return on Shareholders'
Funds.
Profit & Loss Account of ABC Ltd. for the
year ended on 31-3-2021
Particulars Amount | Particulars Amount
Rs. Rs.
Opening Stock 50,000 | Sales 8,50,000
Purchases 3,00,000 | Closing Stock 70,000
Wages 1,25,000 | Interest on
Administrative Investments 5,000
Expenses 1,15,000
Selling Expenses 1,50,000
Interest on Debentures 10,000
Provision for Tax 75,000
Net Profit 1,00,000
9,25,000 9,25,000
Balance Sheet of ABC Ltd. as on 31-3-2021
Liabilities Rs. | Assets Rs.
12% Cumulative Goodwill 1,00,000
Preference shares 1,00,000 | Land - Building 1,50,000
Equity Share Capital Plant - Machinery 1,50,000
Rs. 10 each 2,00,000 | 10% Govt. Securities 50,000
General Reserves 31,000 [Stock 90,000
Employees' Profit Debtors 35,500
Sharing Funds 3,000 | Bank Balance 37,000
P & L Al 35,000 | Underwriting
10% Debentures 1,00,000 commission 8,000
Employees' Accident Advertisement
Rebate Reserves 9,000 | Suspense Alc. 4,500
Provident Fund 27,000
Other Current
liabilities 1,20,000
6,25,000 6,25,000
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1

Other Information :

1. All investments are non-trade investment and their
market value is Rs. 60,000.

2.  The market values of Goodwill, Land-Building and
Plant-Machinery were Rs. 75,000, Rs. 2,50,000 and
Rs. 1,75,000 respectively.

3. Additional depreciation to be charged on appreciated
value of assets will be Rs. 10,000.

4.  Stocks includes an item of the cost of Rs. 12,500 which
1s badly damaged and only Rs. 5,500 will be realized

out of its sales.

OR
The balance sheet of AB Ltd. as on 31-03-21 was 20
as under :

Liabilities Rs. | Assets Rs.
10% Preference share Fixed Assets 3,99,200
Capital 7,000 Pref. Shares of
Shares of Rs. 100. 7,00,000 Subsidiary Co. 1,60,000
Equity Share Capital Due from
Rs. 10 each 5,00,000 Subsidiary Co. 8,00,000
Share Premium 1,12,200 | Long Term
P & L Al. 5,24,000 Investments 1,40,000
Dividend Stock 3,84,000
Equalization fund 2,80,000 | Debtors 12,00,000
5% Debentures 56,000 | Bank Balance 40,000
Creditors 7,64,000 | Bills Receivables 66,800
Unclaimed Dividend 67,800 | Preliminary
Bank overdraft 20,000 Expenses 10,000
Proposed Dividend 68,000
Bills payable 1,08,000

32,00,000 32,00,000
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The following additional informations are given :

1. The replacement price of Fixed Assets is determined

Rs. 7,27,000 by the valuer.

2.  The present value of share of subsidiary Co. is

Rs. 2,00,000.
3. The value of Investments is taken Rs. 1,56,000.

4. Every year obsolete stock is written off. Write off stock
during this year Rs. 2,000.

5.  Net Profit before tax is Rs. 6,00,000.

6. On the basis of Replacement price of Fixed Assets,
Additional depreciation of Rs. 22,800 is to be written off.

7. The profit of Rs. 10,000 on previous year's sales 1is

debited to P and L A/c of current year.

8.  The loss from sale of Machinery of Rs. 1,000 is debited

to P and L A/c of current year.

9. At the time of determining current year's profit, Bank
overdraft interest of Rs. 1,000 and Donation of

Rs. 66,800 was deducted.

Calculate for the Directors :
1. Rate of Return on Total Capital Employed.
2. Rate of Return on Net Capital Employed.

3. Rate of Return on Owners Capital Employed.
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2 The following data are available from the records of 20

AC Ltd. for the month of January - 2022 :

No. of workers on the payroll : at the beginning of the
month 900 and at the end of the month 1,100. During the
month 10 workers were left, 40 workers were discharged and
150 workers were recruited. Of these, 25 workers were
recruited in vacancies of those leaving, while the rest were
engaged for an expansion scheme. Calculate labour turnover
Rate by applying :

(A) Separation Method
(B) Replacement Method

(C) Flux Method.
OR

2 The management of KK Ltd. is worried about their 20
increasing labour turnover in the factory and before analyzing
the causes and taking remedial steps, they want to have an
idea of the Profit foregone as a result of labour turnover in

the last year.

Last year sales was Rs. 83,03,300 and P/V ratio was 20%.
The total numbers of actual hours worked by the direct labour
force were 4.45 lakh. As a result of delays by the human
resources department in filling vacancies due to labour
turnover 1,00,000 potential productive hours were lost. The
actual direct labour hours included 30,000 hours attributable
to training new recruits, out of which half of the hours were

unproductive.
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The cost incurred consequent on labour revealed,

on analysis, the following :

Settlement Cost due to leaving............ Rs. 43,820
Recruitment Costs .......oeevvveviivniiiinnennn, Rs. 26,740
Selection CoSt..coeeieeeeeeeieiieeieeeeeeeeeeeeen. Rs. 12,750
Training Cost ......ccoeeeeviviieeiiiiiiieeeeeiieees Rs. 30,490

Assuming that the potential production lost as a
result of labour turnover could have been sold at the
prevailing price. Find the Profit Foregone on account of

labour turnover.

3 The following financial data are available from the 15
books of D Ltd. for year 2021-22
Raw - Material (Per Unit) ......... Rs. 14
Direct Labour (Per Unit).......... Rs. 10
Direct Expenses Total ............... Rs. 60,000
Indirect Labour (Per Unit)....... Rs. 2 + Rs. 20,000 Annual
Fuel Cost (Per Unit)................. Rs. 3 + Rs. 30,000 Annual
Depreciation ..........ccceeeeevvvvnnennnn. Rs. 40,000 Annual
Salary e Rs. 36,000 Annual
Rent of Factory Building ......... Rs. 2,000 Monthly

Production and Sales 10,000 Units (Per Unit Sales Price Rs. 50).

The Equity Share Capital of the company is 20,000
Equity Shares having face value of Re. 1 each. The market
price of Equity Share is Rs. 15 Per share. Estimated Cost
of Capital is 14% and Taxation Rate of Earnings is 50%.
Find out the following from this data :
1. P.V. Ratio
2 Sales at BEP
3. Target Profit and required Sales to get Target Profit
4. Margin of Safety.

OR
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3 From the books of A Ltd. for the year 2021-22 the 15
following financial data are available at the 60 % level

of its production capacity.

Raw - Material (Per Unit)........ccovvvvevnnnenn... Rs. 13

Direct Labour Total .........cocovvviiiiiiiiiinnnens Rs. 54,000

Direct Expenses (Per Unit) ........cccvvvenneennnne.. Rs. 8

Production & Sales.....cccoooveviviiiiiiiiiiiieeinnnn. 6,000 Units

Factory Overheads (60% Variable).............. Rs. 1,00,000 Annual

Admin. Office Overheads (60 % Fixed) ...... Rs. 60,000 Annual

Selling & Distribution Overheads (Fixed)..Rs. 40,000

The Company wants to earn a profit @ 20 % on Total
Cost at 60%, 80% and 100% of its production capacity.
Prepare a statement showing profit per unit at 60%, 80% and

100% of its production capacity.

4 (A) Define Management Control System. Discuss its scope. 8
(B) Define Kaizen Costing. Discuss its characteristics. 7
OR
4 (A) Conceptualize Target Costing. Explain Target 8
Costing Approaches.
(B) Explain challenges and solutions of Government 7

Accounts.
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